(6) I MBI AR DTS 25 Bl - RS LM B O Je SR HE BHER TR SR
FK6-1 MBI TG AN PR DTE 250 Bl - 6t S BRI O PE H S HE RS SR CPAR304E )

S E R PEH 1 (kg/4E)
T R =
RS o W A i st
80 [Fi L 1,499,061 2,874,146 4,373,207
N 329 ARV A—s3A—} 154 183,324 183,478
=H 405 1 IHFENED 354 1,019 1,373
& it 1,499,570 3,058,489 4,558,058
80 [l 177,160 975,706 1,152,867
Thig 329 RV A—,3A—] 0 62,234 62,234
405 13H5FLEW 0 346 346
& it 177,160 1,038,286 1,215,447
80 [l 127,077 100,219 227,296
e e 329 ARV A—s3A—} 0 6,392 6,392
a 405 1FHFEILEY 0 36 36
& it 127,077 106,647 233,724
80 [l 54,568 276,319 330,887
mER 329 RV A—,3A—} 0 17,625 17,625
a 405 1FHFELEY 0 98 98
& it 54,568 294,042 348,610
80 [l 118,406 357,210 475,616
R 329 ARV A—s3A—} 0 22,784 22,784
a 405 1FHFELEY 0 127 127
& it 118,406 380,121 498,527
80 [l 299 17,896 18,195
i 329 ARV A—s3A—} 0 1,141 1,141
AR 405 1FHFELEY 0 6.3 6
& it 299 19,044 19,343
80 [l 0 2,943 2,943
LR 329 ARV A—s3A—} 0 188 188
a 405 1FHFELEY 0 1.0 1
& &t 0 3,131 3,131
80 [l 0 0 0
e 329 ARV A—,3A—] 0 0 0
i s 405 1FHFEILED 0 0 0
& &t 0 0 0
80 [l 150 5,388 5,538
ST 329 RV A—s3A—} 0 344 344
KI5 (BRI AW 0 1.9 2
& &t 150 5,734 5,883
80 [l 0 0 0
o 329 RV A—s3A—} 0 0 0
FAR 405 1FHFEILEY 0 0 0
& &t 0 0 0
80 [l 0 0 0
e A 329 ARV A—,3A—} 0 0 0
BRI 405 1FHFELED 0 0 0
& &t 0 0 0
80 [l 0 0 0
. 329 RV A—s3A—} 0 0 0
RN 05 133 am 0 0 0
& &t 0 0 0
80 [l 10,914 50,110 61,023
FoER 329 ARV A—,3A—} 0.009 3,196 3,196
a 405 1FHFELEY 0.022 18 18
& it 10,914 53,324 64,237
80 [l 150 716 865
SOECH 329 ARV A—,3A—} 0.003 46 46
" 405 1FHFELEY 0.007 0.25 0
& &t 150 762 911
80 [l 1,495 61,563 63,058
sentm | 329 |[RUA—/3A—] 0 3,927 3,927
il 405 1FHFELED 0 22 22
& it 1,495 65,512 67,007
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80 [FL L 1,495 35,077 36,572

e 1A 329 |[ARYF—A—] 0 2,237 2,237
HHR 405 1IHFLEW 0 12 12
& it 1,495 37,327 38,822

80 [FL L 0 165,362 165,362

- 329 |[ARYF—A—] 0 10,547 10,547
M 405 1IHFLEM 0 59 59
& it 0 175,968 175,968

80 [FL L 2,392 193,280 195,672

Fm | 329 RYA—73A—F 0 12,328 12,328
0 405 1IHFLEM 0 69 69
& =t 2,392 205,677 208,069

80 [FL L 449 47,246 47,695

e 329 AR A —3A—] 0 3,014 3,014
(EEing 405 13H5FILEW 0 17 17
& it 449 50,277 50,725

80 [FL L 0 0 0

AL 329 |[ARYF—A—] 0 0 0
0 405 1IHFLEM 0 0 0
& it 0 0 0

80 [FL L 0 0 0

- 329 |[ARYF—sA—h 0 0 0
RER 05 aoEiam 0 0 0
& it 0 0 0

80 [FL L 0 0 0

o 329 AR F—s3A—] 0 0 0
Iz 7k 405 1IHFLEM 0 0 0
& it 0 0 0

80 [FL L 3,588 36,508 40,097

PU 329 |[ARYF—A—| 0.85 2,329 2,329
R 05 EPEI Ay 2.0 13 15
& it 3,591 38,850 42,441

80 [FL L 16,744 1,432 18,176

R 329 |[ARYF—s3A—] 0 91 91
BRI 05 @R A 0 0.51 1
& it 16,744 1,524 18,268

80 [FL L 35,283 64,427 99,709

—qp | 329 RYA—73A—F 4.5 4,109 4,114
o 405 1IHFLEM 10 23 33
& it 35,297 68,559 103,856

80 [FL L 0 0 0

T 329 |[ARYF—s3A—| 0 0 0
e 405 1IHFLEM 0 0 0
& it 0 0 0

80 [FL L 1,196 70,869 72,065

. 329 |[ARYF—s3A—] 0 4,520 4,520
S5 35 # AW 0 25 25
& it 1,196 75,415 76,611

80 [FL L 748 716 1,463

329 |[ARYF— " A—] 0.065 46 46

Bt 405 1IHFLEM 0.15 0.25 0
& it 748 762 1,509

80 [FL L 121,844 9,822 131,667

R 329 |[ARYF—s3A—] 0.26 626 627
i 405 1IHFLEM 0.59 3.5 4
& it 121,845 10,452 132,297

80 [FL L 0 0 0

o 329 AR A —3A—] 0 0 0
R 405 1IHFLEM 0 0 0
& it 0 0 0

80 [FL L 4,037 16,465 20,501

ar g | 329 |[RUA— " A—] 1.3 1,050 1,051
IR 105 @i am 3.0 5.8 9
& it 4,041 17,521 21,562

80 [FL L 2,542 9,992 12,533

o 329 AR F—3A—] 0 637 637
Ryl 405 1IHFLEM 0 3.5 4
& &t 2,542 10,633 13,174
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80 [F L
Eipp | 329 AUI—A
405 135% /\7““]\ 598 129
lLaw 0 o 13,595
R it — 15 2,742
o L 1B 399 |RYB— 1
] | L1 % 9 | ARYF—sA—P 34,386 45,744 46 ;
105 FH5FILA 2,148 342
Rt ~ 0 ’ 36,533
TRET &t 0 01% 137
g | 329 RU—A 134’386 5,285 L
RESE 22 b 61,014 2,148 36,671
FLeW 0.23 ’ 163,1
i _ 137 ,162
e =T - 0.53 0.76 137
=gt 399 HFYH— 1,015 2,28 1
% )y —73A—h 2,841 ,285 163
405 12T 15,033 300
it =~ 0.097 ’ 17,873
R 0.22 959
dpn | 329 AUH—s B4 15,997 6
10 / A—h 17,791 : 18,83
5 \IHFE 7,235 838
Rleaw 2.8 461 25,026
30 '*\“‘/I/E‘l/ = = 6.3 26 464
S [329 AUH— - 36,800 7,699 :
S s 3 180 5,407 25,499
=i &Y _ 6.5 ’345 41,587
30 3’\—:/1/?/ G = 15 1.9 351
gpn | 329 AUh— i T 5,754 17
S s 3 795 2,148 41,955
#L E/ 41 137 93,942
TRET it e 0.76 178
| 329 AHUD—s i Lt 2,285 9
S T K ,498 92,345 94,213
#FEM 14 2 122,8
i _ 5,890 843
TREET &t 30 52411 33 5,904
= 157 [E 399 | FUH—N > 6
e | 329 RUH— —b So.801 98,268 -
405 1IHFE(LE 5,011 8,811
/\L\ D% _ 0 y320 64’812
30 3’\‘\\/1/':\'/ At = 0 1.8 320
e, | 329 FUA— 801 5.332 2
L 105 IHE //\\%»«]\ 104,353 100 65,133
#ZLaw 0.85 ,006 114
i _ 638 ,358
TR =F — 2.0 3 s 639
Eigre |92 FUH— N 296 10,647 6
10 ) AR 35,283 2 115,00
HESEIE 88,766 003
Fivat 8.9 ’ 124,0
i _ 5662 ,048
80 Folo i TERIE 31 o
REA I 399 HEUH—N : 5
ENLS 9 T?ﬁ IRA—] 75,200 94,459 12 -
405 1FIHFLE 6,044 9,171
/\L\ D% 11 : 81,243
% = o 385
PN 329 |[ARUA—s3A 220 6,131 =L
405 1 EHF (k& —t 34,984 16,145 81,667
#L A 16 030 51,128
%0 3’\—:/1/?/ =t 5 37 ’57 1,046
el | 929 FUH— N AL 17,180 12
40 “ A—h 20,332 : 52,216
5 \IHFE 35,077 .
#L A 10 5037 55,409
%0 3’\—:/1/?/ =t - 23 ’ 12 2,247
gEla e | 329 FYH—N 0,386 37,327 36
10 / A—Fh 78,339 : 57,69
5 139FLE 43,667 .692
FLAW 37 : 122
i _ 5785 ,006
TR =F - 84 T 2,822
s | 329 AUL—N 5,160 46,468 100
s 105 1355 //\\%»«]\ 35,133 ) 124,928
=S7e/ 0.038 6 35,819
&z oF 0.087 16 46
35,133 07'25 0
62 35,895
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